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<< Graphics ImplicitPlot’

General::obspkg :
Graphics' ImplicitPlot’ is now obsolete. The legacy version being loaded may conflict with current
Mathematica functionality. See the Compatibility Guide for updating information. >

ekvl = Sqrt [x142 +x242] == 1

x1%2 + x2% =1

ekv2 = Sqrt[5x142 +2x242] ==

\5x1%2+2x2% =1

ekv3 = Sgrt[2x142 +4x1x2+3x%x242] =

\/2x12+4xlX2+3x22 =1

ImplicitPlot[{ekvl, ekv2, ekv3}, {x1, -1.5, 1.5}]
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In[t= ContourPlot3D[3x"2+2y"2+112"2 =1, {x, ~1/8qrt[2], 1/8Sqrt[2]},
{y, -1/8qrt[2], 1/Sqrt[2]}, {z, -1/8qrt[2], 1/8qrt[2]}]
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